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This Question Paper consists of 26 questions [Section-A (20) + Section-B (3+3)] and 8 printed pages.
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the answer-book or writing roll number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper code No. 51/ASS/3, Set— on the answer-book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.

(b)  Ifyou choose to write the answer in the language other than Hindi and English, the responsibility for

any errors/mistakes in understanding the question will be yours only.
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Note : (i) This Question Paper consists of two Sections, viz., 'A' and 'B'.

(i) All questions from Section 'A' are to be attempted.

(iii) Section 'B' has got more than one options. Candidates are required to attempt
questions from ome option only.
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SECTION - A
Hog — H
1 Distinguish between consumer services and producer services. 2

IUTRAT el ok Iadaes garell & S/ e s |

2 Why does an economic problem arise ? 2

B3 ¥ gHEn # SO Bl 8 7

3 State any two changes that an economy experience with economic development. 2

g el & aiecel @ Sww iy S et faem @ utem 7 uw
Sefea ofg9a Hl © |
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4 Show under utilization of resources with the help of a production possibility 2
curve.

GOEFT & T WA hl IAET GHWEEl G Gl GeEdl 9 YA hieg |

5 Explain the role of statistical data in construction of economic theories. 2

o Rl @ T A Hitede! ofihel @l el AR |

6 Who generates factor income ? 2

e A BN G BT BT &7

7 State any two precautions which must be taken while estimating national 2
income by income method.

Udl & gEgiEl o Sw@ sy o o Tt g i o & ot ®
CEG IS I (G

8 How are national income estimates used as an indicator of success or failure 2
of planning ?

TEF AT & ATAM B AN B GHAD A1 FTEAAT Dl BELE & &Y |
fre R SwEm # @R S g

9 State two necessary conditions for maximization of profit according to 2
marginal revenue and marginal cost approach.

qEr Y qAT WE @ USia g @ Siedd B @l & 9Tl ol
I I |

10  Explain the central problem 'How to Produce' with the help of an example. 5

‘PY IAERT TR ST BT U] B Uk SAEIV Bl GeEdl 9 ATl diNt |
318/51/ASS/3_A | 3 AR AW 1 Contd...



11  From the data given below calculate arithmetic mean using step deviation method : 5

Marks No. of Students
40-50 15

50-60 15

60-70 25

70-80 30

80-90

90-100 8

e foga fafy @1 w@e e gu Fefafea ofies! ¥ @A AT @1 g
CAITC

40-50 15

50-60 15

60-70 25

70-80 30

80-90 7

90-100

12 Calculate net value added at factor cost from the data given below : 5
 in lakhs)
(1)  Opening stock...................ooooiiiii 300
(1) Closing StOCK ............cccccooiiiiiiii e 200
(111) Indirect taxes ................ccooviiiiieiiiieeei e 70
(1v)  SubsSidies ..........cccccooiii 20
(V) Sales ..o 15,000
(Vi) Depreciation ..................oooooiiiiieiiieeeeie e 80
(vil) Intermediate consumption expenditure.................... 8,000
frafafaa siiwsl ¥ @am @ra W e g 3fe @& ofees @i
R @@ ¥)

(1) UREHE T oovirirrrieiriereereeereeeesere e 300
(i) STFTH TIB v 200
(111)  BTHTTET TT eevrvvrrerereeieeerieeaaeeeaeaaaaaeaaa e aeeeaaaaaaaaaaee 70
(iv) ST FERIAT...ooviiirieiiiieeeeeeeeeeee e 20
(V) TIT o 15,000
(VI) T B oo 80
(vii) FETAAT SUHT ST oo, 8,000
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13  Calculate National Income from the data given below : 5
( in crores)

(1)  Depreciation ..............c...oooviiiiieiiiee e 100
(1)  Gross INVEStMENt ....................cooeiiiiieiiieieiieeee 3,000
(111) Net Indirect taxes ...............c.cccoooiiiiiiiiiiiieeiieeeii 120
(iv) Private final consumption expenditure ...................... 8,000
(v) Government final consumption expenditure............. 12,000
(V) Net eXPOItS ..ot 400
(vil) Net factor income from abroad............................... (-)60

fr=fafaa ereel @ I 9T @1 UReET ®iNE

R Uz #)
(1) T B oo 100
() FBT A oo 3,000
(iii) TTIT STTE B eoviiviiirieeiiireeeeeereeree oo 120
(iv) T S STMRT @ e 8,000
(v) TN ST SUMTT S o 12,000
(Vi) TTIE TR o 400
(vii) Todst & MEE TMET S oo ()60

14  Total fixed cost is ¥ 60. Calculate Average fixed cost and Average variable 5

cost at various levels of output in the following schedule :

Output (units) |1 2 3 4 5
TC(3) 120 | 160 | 210 | 320 | 450

FA A @ X 60 ¥ faiad difaes # saed & v X ' oiead o
A qe efed ufEdl @ @ uRead die

Saed G |1 |2 |3 |4 |5
WW(?) 120 | 160 | 210 | 320 | 450

15 Explain the meaning of revenue receipts and capital receipts in a government 5
budget. Give one example of each.

HRT & I9 § [od gihadi qon ysia el & o @ e i)
A% H TH SAEIV e |

16 Can we say that with the New Economic Policy 1991, the role of the 5
government has reduced ? Justify your answer.

T EH HE WhA € B A3 SAMYUE A 1991 & WY WHR Db A EH
T 7 AU IR @ elitae A
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17 The following table shows the number of students appearing in an examination 8
from two universities. Represent this information through a component bar chart.

No. of Students appearing in examination

Stream University - A University - B
Arts 8,000 6,000
Science 4,000 2,000
Commerce 7,000 5,000
Law 1,000 2,000
Total 20,000 15,000

Frrfaiaq difwer o & fasafqamesl & T Tlen o do1 aW BEl Bl we
e T ¥ @ gEm @ oemEn qus R g wehfd s

Tlen # S A Bl @l We

KEADS fagafqama — o fagafqama — 9
BT 8,000 6,000
fasm 4,000 2,000
ElL 7,000 5,000
oty 1,000 2,000
FA 20,000 15,000

(For Blind Candidates only in lieu of Q. No. 17)

(Faw ghedm witenfi@i & fou 9 9&m 17 & ©F W)

Write the steps involved in preparation of a component bar chart from the

information given above.

SRIE MR & fad sEmdE gvs fow & o # wged wxon @ faied

18 Distinguish between 'expansion of demand' and 'increase in demand'. 8
o & feme g wiwm A i 7 99 Hif

19 How do banks create credit ? Explain with the help of a numerical example. 8
9% - FEY F wW E 7 UH SO SARAU &l WAl ¥ dEHEy |

20 What is economic planning ? Why did Indian policy makers adopt economic 8
planning for the development of India ?
e TFRsT & & P AR Ao FEiaet 3 AR & T & o st s
® w7
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SECTION - B

e — 9
OPTION - 1
T - 1

(Role of Agriculture and Industry in India's Economic Development)

(W F ontdew foer ¥ B R wEm AW i)

21 What is meant by land productivity ? 2

qff SoEwd ¥ R/ oAtHaE & 7

22  State any five problems faced by public sector enterprises in India. 5

ORG H GEWe &5 % SUHl % 9Md oM aill Thel urd gEEell
IeTg BN |

23  Explain technological measures to increase agricultural productivity. 8

PN Saed ¥ ghe v & @ deifer suat @ smen s
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OPTION - 11

T - 10

(Population and Economic Development)

(e iR i )

21 What is meant by density of population ?

TS T 9 | oAt &7

22  Why is there a need to reduce the birth rate ? Explain.

T T Bl HBY BT Dl ARl b & ¢ GHAEY |

23  Explain the effect of economic growth on the growth rate of population.

s dgfg & SEE Jhe X J9E Sl S i |
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